Reata de nombres decimals


1 a.423.1 − 219.5525 = _________ 
1 b.794.39 − 353.9361 = _________ 

2 a.346.84502 − 3.8574 = _________ 
2 b.905.45 − 639.844 = _________ 

3 a.677.46 − 145 = _________ 

3 b.137.3238 − 101.577 = _________ 

4 a.781.84 − 364.9752 = _________ 
4 b.669.25 − 143.11 = _________ 

5 a.533.7387 − 169.10421 = _________ 5 b.678.3 − 422.521 = _________ 

6 a.750.97 − 723.219 = _________ 
6 b.907.133 − 873.96 = _________ 

7 a.753.7 − 391.21479 = _________ 
7 b.705.098 − 495.4453 = _________ 

